TH 6 FREEERANELENERIBERSUERT

4 R Bk -~k S =<Kiva

1. B
115.0nd 24 H

S8 e 7 Y EBGEXTHEAT S 1. 00 =
40.0mt 24 A

Ayyay=h (Ilmmpy¥a) TED A (H=1, 800) 1. 00 =
109.0ni 14 H

ST 5 HFRH  F%] H=1.8m 1. 00 =
22.2m

Eiast JESENT R & X 1 miRE 1.00 X
22.2m

ke JARN AP R T E S X 1 miRE 1. 00 =
HERBA K ALEE (T HUFRFE & o)

BRI (FFX) B 98 AN A -+ Fie B 1R R8s A 147.0 m
ARG ERE Y (FHIFIEEE T0)

AL (ORER) e - SR TF®Y 4+ BBy 2 56. 1 m

I 7




4 R Bk -~k S =<Kiva

2. @A
430 27 A

g Y (BEH) 7 Y EBGEX T AT S 1. 00 =
73.8m 24 H

SRS (B RH) 7 Y EBGEX T AT S 1. 00 =
135m 24 A

Ay ay—p TEDA (H=1, 800) 1.00 =
19.6m8 1+ H

N7 R HFRAH  F%] H=1.8m 1. 00 =
74. 9t

Eiast ST E S X 1 mfEE 1.00 =,
74. 9t

ks JARN AP R T E S X 1 miRE 1. 00 =
HERBA K ALEE (T HUFRFE & o)

BRI (FFX) [ 9% AN AR 4 it HH B 1A S 118.0 m
ARG ERE Y (FHIFIEEE T0)

WA (ORER) e - SR TR 4+ BBy 2 197.0 m
AR Y (THIFRE S T)

B (&AM S - GRILEE+ FRY 4+ Y 2] 44.3 nt

I 7




4 PR FRRS TR s BT

3. SMEER: S P 1 D FARER 4y
162m 2+ A

s ey (BEH) 7 Y CBEEXTHIT RS 1. 00 =
24.4m 24 H

N RS (FFRH) 7 Y CBEEXTHIT RS 1. 00 =
48.8m 2+ A

A9V ay—} TBDA (H=1, 800) 1. 00 =
27.1m

e SRR S X 1 mfaE 1. 00 Y
27.1m

ki JARNAPS SRR S X 1 mfaE 1. 00 Y
HEPREL K ALER (FHIEFRHE S Te)

PRGN, B 28 KA AT + it BH 1k HI 8 A 41.0 it
AR ERE Y (THIREE )

Wit ORE) JE - R4 TR 4+ BB 20 110.0 m

=V 7 (BEEY) BETEfE . B — VU v/ MS—2 83.0 m

IRt/ ERE R TR 1. 00 =

I 7




4 PR FRRS TR s BT

4. FREAT S
106m 2+ A

s ey (BEH) 7 Y CBEEXTHIT RS 1. 00 =
25.0m 24 H

N RS (FFRH) 7 Y CBEEXTHIT RS 1. 00 =
23.4m 24 H

A9V ay—} TBDA (H=1, 800) 1. 00 =
13.0mt

e SRR S X 1 mfaE 1. 00 Y
13.0mt

ki JARNAPS SRR S X 1 mfaE 1. 00 Y
HEPREL K ALER (FHIEFRHE S Te)

PRGN, B 28 KA AT + it BH 1k HI 8 A 33.6 it
AR ERE Y (THIREE )

Wit ORE) JE - R4 TR 4+ BB 20 52.3 m

I 7




ZI /) B~k i HLAL

5. (EUEFEERT - AT SN T 1 AT VR 4y O Bt T
533m 24 H

g Y (BEH) 7 Y EBGEX T AT S 1. 00 =
74.6m 24 H

SRS (B RH) 7 Y EBGEX T AT S 1. 00 =
149 22 A

Ay ay—p TEDA (H=1, 800) 1.00 =
40.2m 1+ H

ST 5 JERERIEH B H=1.8m 1. 00 =
123

Eiast ST E S X 1 mfEE 1.00 =,
123t

ks JARN AP R T E S X 1 miRE 1. 00 =
HEPRBA K ALEE (T HUFRFE & o)

BIE (FFX) )5 9% AN AR 4 it HH B 1A S 125.0 m
ARG ERE Y (FHIFIEEE T0)

WA (ORER) e HHLEE+ TR 4+ EBRY 2[[ 439. 0 m
AR Y (THIFRE S T)

Ak GRAAARAR) HE - SR+ TR + Ry 2 87.5 ot

I 7




